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1-In doing so, he ran into trouble over the concept of the supply of capital.
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2-There were many diversities among the writers who came to the fore in the eighteen seventies.
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3-A sudden increase of any commodity brought to market - say, tomatoes - will generally lead to a
fall in its price.

14*‘5 231_“ 3°5—“‘L‘-"5 4‘_\“5_{4

4-The average number of times that a piece of money enters into transactions during a year is
referred to as the -------- .

1. velocity of circulation 2. peneficient sway
3. keynesian revolution 4. market-cleaning prices

5-1t provided a justification for the social system. Since only land produced a surplus, only the
landowner had a right to enjoy it.
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7-All other employers have to pay wages in corn.
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8-The analysis was not at all clear but the metaphysic was pleasantly soothing.
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9-In " Vast powers of production are put into action and the result is unfavourable to the interests of
mankind." to put into action means -------- .
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10-An earthquake was expected to destroy the city.
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11-In "Economic scarcity requires people to make economic choice, and economics is about
comparing alternatives and choosing among them." them refers to ------- .
1. people 2. economics
3. alternatives 4. without reference

12-There must be some programs to inoculate children against disease and to provide medical care
to the aged.
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13-Marshall's scheme also emphasizes scarcity, but it is scarcity at a moment in history.To him, time
and change were always present.
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14-But this leaves unsolved the problem of the relation ofthe rate of profit to prices.
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15-Why should a country's real output and money incomes each increase in such a wayover a period
of time.

1. on 2. more than 3. during 4. above

16-He built up a siccessful business, but it was all done at the expense of his health.
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17-Britain has suffered from rising prices and balance of payments difficulties.
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18-The economics have been increasing their net output of goods and services with an economic
value.
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19-Sulphur dioxide emissions from coal-fired power stations lead to acid rain.
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20-A welder is made redundant at 50 when the industry contracts in the face of foreign competition.
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21-Broadly speaking, we can say that a country may enjoy full employment in different ways.
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22-In "l raise my salary to buy a new car." , raise means -------- .
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23-The International Monetary Fund has not proved a complete answer to the problem Keynes has in
mind in the early 1940s.
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24-The abbreviation OPEC stands for -------- .
1. Optimum Policy for Economic Crisis
2. Organization of Petroleum Exporting Countries
3. Organization of Political Economy Crisis

4. Optimum Policy for Exporting Contracts

25-1t would be impossible to eliminate excessive demand simply by higher taxation.
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26-In ------- economics we deal with recommendation based on personal value judgements.
1. normative 2. positive 3. subjective 4. negative

27- At this stage, there is no scope for personal value judgements.
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undesirable capital exchange .Y adverse exchange capital .\
undesirable movement capital - ¥ adverse capital movement .Y
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